
https://www.passapply.com/aws-certified-big-data-specialty.html
2024 Latest passapply BDS-C00 PDF and VCE dumps Download

 

 

 

BDS-C00Q&As

AWS Certified Big Data - Speciality (BDS-C00)

Pass Amazon BDS-C00 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/aws-certified-big-data-specialty.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Amazon
Official Exam Center

 

 

BDS-C00 VCE Dumps | BDS-C00 Exam Questions | BDS-C00 Braindumps                                1 / 3

https://www.passapply.com/aws-certified-big-data-specialty.html
https://www.passapply.com/aws-certified-big-data-specialty.html
https://www.passapply.com/aws-certified-big-data-specialty.html


https://www.passapply.com/aws-certified-big-data-specialty.html
2024 Latest passapply BDS-C00 PDF and VCE dumps Download

QUESTION 1

A company generates a large number of files each month and needs to use AWS import/export to move these files into
Amazon S3 storage. To satisfy the auditors, the company needs to keep a record of which files were imported into
Amazon S3. 

What is a low-cost way to create a unique log for each import job? 

A. Use the same log file prefix in the import/export manifest files to create a versioned log file in Amazon S3 for all
imports. 

B. Use the log file prefix in the import/export manifest files to create a unique log file in Amazon S3 for each import. 

C. Use the log file checksum in the import/export manifest files to create a unique log file in Amazon S3 for each import. 

D. Use a script to iterate over files in Amazon S3 to generate a log after each import/export job. 

Correct Answer: B 

 

QUESTION 2

An organization is using Amazon Kinesis Data Streams to collect data generated from thousands of temperature
devices and is using AWS Lambda to process the data. Devices generate 10 to 12 million records every day, but
Lambda is processing only around 450 thousand records. Amazon CloudWatch indicates that throttling on Lambda is
not occurring. 

What should be done to ensure that all data is processed? (Choose two.) 

A. Increase the BatchSize value on the EventSource, and increase the memory allocated to the Lambda function. 

B. Decrease the BatchSize value on the EventSource, and increase the memory allocated to the Lambda function. 

C. Create multiple Lambda functions that will consume the same Amazon Kinesis stream. 

D. Increase the number of vCores allocated for the Lambda function. 

E. Increase the number of shards on the Amazon Kinesis stream. 

Correct Answer: AE 

 

QUESTION 3

A company is centralizing a large number of unencrypted small files from multiple Amazon S3 buckets. The company
needs to verify that the files contain the same data after centralization. 

Which method meets the requirements? 

A. Compare the S3 Etags from the source and destination objects. 

B. Call the S3 CompareObjects API for the source and destination objects. 
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C. Place a HEAD request against the source and destination objects comparing SIG v4 headers. 

D. Compare the size of the source and destination objects. 

Correct Answer: A 

 

QUESTION 4

Select the correct set of steps for exposing the snapshot only to specific AWS accounts 

A. Select public for all the accounts and check mark those accounts with whom you want to expose the snapshots and
click save. 

B. SelectPrivate, enter the IDs of those AWS accounts, and clickSave. 

C. SelectPublic, enter the IDs of those AWS accounts, and clickSave. 

D. SelectPublic, mark the IDs of those AWS accounts as private, and clickSave. 

Correct Answer: C 

 

QUESTION 5

You have identified network throughput as a bottleneck on your m1.small EC2 instance when uploading data Into
Amazon S3 In the same region. 

How do you remedy this situation? 

A. Add an additional ENI 

B. Change to a larger Instance 

C. Use DirectConnect between EC2 and S3 

D. Use EBS PIOPS on the local volume 

Correct Answer: B 
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